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First: Algebra

WLHIfA = (i _11),B = (i g) ,prve that (AB)' = B'A?
2 IfA = (_01 i),B — (i ;),find BA + A2,

Second: Trignometry

(3) Solve the right angled triangle ABC at B,
in which AB =5 cm, BC = 58 cm.
4y Solve the right angled triangf ABC at B,
in which BC =6 cm, AC =10 cm.
(3) Solve the right angled triangle ABC at B
in which AB=12 cm, AC =13 cm.
Third: Geometry
6y ABCD is a parallelogram, where A2, 1), B5, 1) and
C(5, 3) find the coordinates of the point D.
(7y ABCD is a quadrilateral, where A = 2, 6, B = 3, 8,
C = -1, 4 and D = (-4, 2y, prove that AB = DC .
8, If3m + 5AB = 3CB — 2BA, prve that m = CA.
9 IfA = (5,6),B = (11,14), find||AB]|).
10yIfA = (5,1),B = (8,2),C = (2, 2)and D = (1,5)
Prove thatAB 1 CD.
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